HWHY DID THE eX FUNCTIONS FAIL TO INTEGRATE
' INTO A COMMUNITY OF LN(X) FUNCTIONS?

Match each indefinite integral with an anti-derivative.
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IF U= 2(LOOP)?, THEN DU = (?).

Choose a functio

n to substitute for u.

1) JZX(XZ +1)°dx |2 J‘&%—%jlx 3) _f2xx' 4) I3x2 X -F_’i dx
5 [€m5(x)oos(x)dx _[dx ) —fsin(x)dx 8) — f in(?}z) X
9) (X) sec?(x)dx 10) | Jcos(x) L+ sin(x)
Letu = (7). -
A U=sinP(X) |p. u=1+sin(X)|L u=cos(Xx) [m us=x? 0. U=x+1
P.u=sin(x) |R u=tan’(x) [s. u=eX . |( u=tan(x) |) U=X+1
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WHAT POLITICAL MOVEMENT AIMS TO
PREVENT THE TEACHING OF CALCULUS
IN HIGH SCHOOLS?

For the indefinite integrals- 1) — 10) a'bove,_1a) — 10a) du= (?):

A, du = 3x2dx B. du=tan(x)dx {E. du = 2xdx 1. du = —sin(x)dx
K. du=lsec(x)dx m. du= sec?(x)dx |p. du =sin(x)dx R. du = tan®(x)dx
s..vdu = eXdx T. du=cos(X)dx |u. dus= —-cOs(x)dx v. du .—f’_’(x3 + 1)dx
For the indefinite integrais 1) — 10) abovs, 1b) — 10b) give the indefinite integral
A, %(x2+ ¥+ k {p. %(X3+ 18+ k |E %(x2+1)3’2+k H. %sin4(x)+ k
M. %tén‘*(x) + k N, —sec(x) + K 0. g%k 4 k p. sec(X) + k
P. sec3(x) + k R. %(sinx+1)3’2-i- K{T. Inx2+1)+ k |v. In[sinx)| + k
TIHIENAWIT|ZMDe Rz |VIAIT|-E|IVE
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9a | 7b| 6b| 2a | 0b | 3b| 8b | ba
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